RERE (ER)

SHF 70 NK-45 M10x1.25-IG E

Art.-Nr.: 10.01.01.12165

P N
SCHMALZ
S

BAR#E
|13 |18
% £2 B R # 4% KRR NK
MEHEEEREK Al 45.0 Shore A
R~F 70.00
Y24 G1 M10x1.25-F
E i E
SHF 70 NK-45 M10x1.25-IG E
R IE
_G1, Bt il
SEH 18.10 mm
s £ ARG B4 G1 M10x1.25-F
BAKE LGT 10.0 mm
SHEINEITIE Z 4.0 mm
i H1%2Ds 70.0 mm
Ds H12 Dmax(S) 74.0 mm
Dmax(S) IR BUESGMEEZR T AEME DIN ISO 3302-1 M3 1R,

1&1+%%3E SHF 70 NK-45 M10x1.25-1G E

@ WWW.SCHMALZ.NET/CN/10.01.01.12165

Bk%& Schmalz : 5% (LiB) EERERAERAE/ FE LBHEFHXSRKRE77758S (FAXELHL) 808-809% / ZIP: 201210/ +86 (0) 215109

9933 / schmalz@schmalz.net.cn



RERE (ER)
SHF 70 NK-45 M10x1.25-IG E

Art.-Nr.: 10.01.01.12165

(W) sAme

P N
SCHMALZ
S

[-1:: e

R 22 B 2 1 4 RIRIGAR NK
%73 (-600 mbar) 155.00 N
B8 52.5g

EH 16.100 cm?
R~F 70.00
SR 0.0
FmARY SHF

AR RN AENRAREEZER -0.6 BINTHRELR. TR FENBEALATHERE TEEZLRARRELR  EENREERENRRKENR 2 KN

RE.

Q@ =2z

5XEEXM CAD HIBEFMEMIE T FMuILE © www.schmalz.net/cn/10.01.01.12165

@ iR mer 10.01.01.12165

Typ kiE:

R ANAT R REL RED-NIP G1/4-AG M10x1.25-AG AL 10.01.01.12194
USRS SA-NIP N0O09 G1/4-IG DN440 10.01.01.12192
R, Ef SIEB 14.5x1 MS-A2 0.103/0.15 10.05.03.00023
XL TVN G1/4-AG 9 N009 10.05.10.00065

@ WWW.SCHMALZ.NET/CN/10.01.01.12165

BX%& Schmalz : [EiE% (LiB) E=RERERLE/ FE EBHAFHXERERR77758S (FEXELHL) 808-809Z /ZIP: 201210/ +86 (0) 215109

9933 / schmalz@schmalz.net.cn


https://schmalz.saas.contentserv.com/www.schmalz.net/cn/10.01.01.12165

